WS HEME 1 %

2017 £ 12 H 21 H

1.
1) RIEAFOED,
y
y=1/x x=1 x=2
1
1/2 \ .
2 2
1 172
2>V:”/1 (;) de=n|-2] =3
2. By L3
2 2 2
1 2 4
L:/ ,/1+(—) dx:/ 2 =t
0 V3 0 V3 V3
3.
1) 20 =Y, 2y = @ 2) zp = 2xy, 2, = ° 3) 2z = 2,2y =0
4) zx=y2+1,zy:2xy 5) Zl“:zy:%/iTy 6) zm=4:1:y(x2y—|—1),
zy:2x2 (m2y+1)
4.

) folz,y) = 22, fy(z,y) = =2y THBENS, f,(2,-1) =4, £,(2,—1) =2 TH 5,
Yo THSERO AR

z=4x—-2)+2@y+1)+3 =4+ 2y — 3.



2) fm(x7y) = y25 fy(xay) = 2.(172/ Vc%éb);)\ fx(lv_l) = 17 fy(17_1> =-2 1%60
& o TEFEHO SRR

z=(x—-1)-2(y+1)+1=2—2y—2.
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